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Phase Diagram Questions:

A : B
1) Which of the above diagrams represents the phase diagram of water”

2) Label the three phases of each substance as solid, liquid, or gas.

3} For the diagram of water, label the temperatures at the two intersections of the 1 atm line and the
phase boundaries.
4) Name the following processes that refer to the phase
J diagram to the left.
A gomgtoB=

B goingto C=

C goingto A=

Pressure (Atm)
&)
|

A goingto C=

CgomgtoB =

R | ! B goingto A=
195 220 245 270

Temperature (Kelvin)
5) What are two ways of going from point B to the solid phase?

6) ‘Why is it incorrect to say that the boiling point of a substance 1s 100°C?

7) Sketch a heating curve for the previous phase diagram for a chunk of the solid being heated at 1
atmosphere of pressure. How would the heating curve look different if it were for heating at 5 atm

of pressure?

: Temperature
Temperature

Time : Time
1 atm S atm

8) What state of matter is represented by 7 atm and 270K on the previous phase diagram?
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